

Muskegon County Assessment Roll by Year

2024						
Project: BOW-24 BOWEN IC DRAIN						
Township: 15 15 FRUITPORT TOWNSHIP						
Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$	
15	15 FRUITPORT TOWNSHIP	0.0000	0.0000	0.000000	\$1,008.00	
15-027-200-0004-00	FLETEMEYER RICHARD G/DEBRA K TRUST FARR RD NUNICA, MI 49448	19.6900	19.6900	0.000000	\$0.00	
15-027-300-0002-00	MARCHMON DORIAN 6342 S HILTON PARK RD FRUITPORT, MI 49415	9.7500	9.7500	0.000000	\$0.00	
15-027-300-0003-00	BECKER JILL BENKERT/BRADLEY BECKER 6368 S HILTON PARK RD FRUITPORT, MI 49415	9.7500	9.7500	0.999809	\$100.79	
15-027-300-0004-00	FLETEMEYER RICHARD G/DEBRA K TRUST 6637 FARR RD NUNICA, MI 49448	48.9000	48.9000	1.017580	\$102.58	
15-027-300-0005-00	ANASTOR CHARLES J 6418 S HILTON PARK RD FRUITPORT, MI 49415	4.7500	4.7500	0.994072	\$100.20	
15-027-300-0006-00	UMPHREY CHRISTOPHER J 6476 S HILTON PARK RD FRUITPORT, MI 49415	4.7500	4.7500	0.995339	\$100.33	
15-027-300-0008-00	LEE DANA M/LAURIE L 6490 E PONTALUNA RD FRUITPORT, MI 49415	4.9000	4.9000	0.996124	\$100.41	
15-027-300-0009-00	HOPWOOD KENNETH L/CAROLIN M 6550 E PONTALUNA RD FRUITPORT, MI 49415	5.2000	5.2000	1.001995	\$101.00	
15-027-300-0009-10	BRAUN JONATHON/KATHLEEN TRUSTEES 6526 E PONTALUNA RD FRUITPORT, MI 49415	14.4200	14.4200	1.017285	\$102.54	
15-027-300-0010-00	MASSEY JOSEPH SR/DORIS A 6776 E PONTALUNA RD FRUITPORT, MI 49415	19.7000	19.7000	1.024371	\$103.26	
15-027-300-0011-00	VISSER GERRIT/LAUREN 6716 E PONTALUNA RD FRUITPORT, MI 49415	19.3100	19.3100	1.024691	\$103.29	
15-027-400-0001-00	GARRETT JENNIFER 6959 FARR RD NUNICA, MI 49448	19.7900	19.7900	1.019649	\$102.78	
15-027-400-0001-10	FLETEMEYER RICHARD G/DEBRA K TRUST FARR RD NUNICA, MI 49448	9.8900	9.8900	1.000340	\$100.83	
15-027-400-0002-00	BAKER STEVEN J/LORRAINE K 7089 FARR RD NUNICA, MI 49448	4.6700	4.6700	0.992529	\$100.05	
15-027-400-0004-00	FALKOWSKI LESTER 6265 MAPLE ISLAND RD	9.7500	9.7500	0.994663	\$100.26	

Muskegon County
Assessment Roll by Year

2024					
Project: BOW-24 BOWEN IC DRAIN					
Township: 15 15 FRUITPORT TOWNSHIP					
Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$
	NUNICA, MI 49448				
15-027-400-0005-00	MASSEY TONY LEE D 6820 E PONTALUNA RD FRUITPORT, MI 49415	39.0000	39.0000	1.053775	\$106.22
15-027-400-0006-20	DETERS KALVIN L/RUTH A 6425 MAPLE ISLAND RD NUNICA, MI 49448	22.8700	22.8700	1.014258	\$102.24
15-027-400-0006-30	HENRY MORRIE/JUDITH TRUSTEES 6325 MAPLE ISLAND RD NUNICA, MI 49448	9.9000	9.9000	1.000936	\$100.89
15-027-400-0006-40	HENRY MORRIE/JUDITH TRUSTEES MAPLE ISLAND RD NUNICA, MI 49448	9.9100	9.9100	0.997260	\$100.52
15-027-400-0007-00	FABER CRAIG/BARBARA 7058 E PONTALUNA RD FRUITPORT, MI 49415	4.7600	4.7600	0.995257	\$100.32
15-033-100-0003-00	DAHLMAN KENNETH L/TERRI L E PONTALUNA RD FRUITPORT, MI 49415	29.9600	29.9600	0.992571	\$100.05
15-033-100-0005-00	LOSS SHERRIE A 5739 E PONTALUNA RD FRUITPORT, MI 49415	34.6600	34.6600	1.007682	\$101.57
15-033-100-0008-00	JOHNSON LOGAN P 5813 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992087	\$100.00
15-033-100-0009-00	FLIPPO DOROTHY J/JAMES E 5837 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992240	\$100.02
15-033-100-0010-00	VALLIER DANIEL 5855 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992431	\$100.04
15-033-100-0011-00	COLLINS KELLIE JO 5885 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992596	\$100.05
15-033-100-0012-00	TAYLOR EDWARD/DIANNE 5901 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992822	\$100.08
15-033-100-0013-00	ANDERSON JAMES C/VONNY J 5919 E PONTALUNA RD FRUITPORT, MI 49415	4.8700	4.8700	0.992896	\$100.08
15-033-100-0014-00	MENAB MELISSA/CLARK ZACHARY D 5973 E PONTALUNA RD FRUITPORT, MI 49415	9.7500	9.7500	0.993639	\$100.16
15-033-100-0015-00	ADAMS JAMES TRUST WILSON RD FRUITPORT, MI 49415	40.0000	40.0000	1.053744	\$106.22

Muskegon County Assessment Roll by Year

2024					
Project: BOW-24 BOWEN IC DRAIN					
Township: 15 15 FRUITPORT TOWNSHIP					
Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$
15-033-200-0002-00	VANDERMOERE HANNA E 6025 E PONTALUNA RD FRUITPORT, MI 49415	35.7300	35.7300	1.028869	\$103.71
15-033-200-0003-00	GEDMAN CHRISTOPHER/MELANIE A 6155 E PONTALUNA RD FRUITPORT, MI 49415	21.1800	21.1800	1.012559	\$102.07
15-033-200-0003-10	HAMILTON DANIEL D/CARRIE L 6125 E PONTALUNA RD FRUITPORT, MI 49415	18.1000	18.1000	1.008263	\$101.63
15-033-200-0011-00	OLOVSON JOSEPH A/JEANNE A E PONTALUNA RD FRUITPORT, MI 49415	19.5000	19.5000	1.001176	\$100.92
15-033-200-0012-00	OLOVSON JOSEPH A/JEANNE A 6905 S HILTON PARK RD FRUITPORT, MI 49415	14.7500	14.7500	1.014081	\$102.22
15-033-200-0013-00	RHOADES ROBERT/KAY TRUST 6969 S HILTON PARK RD FRUITPORT, MI 49415	4.7500	4.7500	0.999621	\$100.76
15-033-300-0001-00	COOPER RONALD P WILSON RD FRUITPORT, MI 49415	74.3500	74.3500	1.060980	\$106.95
15-033-300-0002-00	PEER HUNTER D 5640 WILSON RD FRUITPORT, MI 49415	4.6500	4.6500	0.993533	\$100.15
15-033-300-0003-00	ADAMS JAMES/KIMBERLEE 5834 WILSON RD FRUITPORT, MI 49415	61.2500	61.2500	1.087108	\$109.58
15-033-300-0004-00	GOERTZ TIMOTHY R/BARBARA K 5904 WILSON RD FRUITPORT, MI 49415	4.7500	4.7500	1.000928	\$100.89
15-033-300-0005-00	CHRISTENSEN JASON/JENNIFER 5948 WILSON RD FRUITPORT, MI 49415	11.3500	11.3500	1.012100	\$102.02
15-033-300-0006-00	STROM RUSSELL 6000 WILSON RD FRUITPORT, MI 49415	1.7000	1.7000	0.995622	\$100.36
15-033-400-0001-00	MCCLINTOCK BENJAMIN/EMMA 6020 WILSON RD FRUITPORT, MI 49415	14.7700	14.7700	1.017500	\$102.56
15-033-400-0002-00	ERICKSON MICHAEL S/CHUDY ANDREA M 6040 WILSON RD FRUITPORT, MI 49415	4.7300	4.7300	1.001073	\$100.91
15-033-400-0002-10	GOERTZ TIMOTHY/BARBARA WILSON RD FRUITPORT, MI 49415	20.3000	20.3000	1.024311	\$103.25
15-033-400-0004-00	RAEHTZ STERLING/SANDRA	39.5000	39.5000	1.055767	\$106.42

Muskegon County Assessment Roll by Year

2024					
Project: BOW-24 BOWEN IC DRAIN					
Township: 15 15 FRUITPORT TOWNSHIP					
Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$
	6156 WILSON RD FRUITPORT, MI 49415				
15-033-400-0005-00	MOON KIM 7017 S HILTON PARK RD FRUITPORT, MI 49415	14.2500	14.2500	1.017074	\$102.52
15-033-400-0006-00	KMIECIK TIMOTHY W/SUSAN J 7025 S HILTON PARK RD FRUITPORT, MI 49415	14.4200	14.4200	1.016579	\$102.47
15-033-400-0007-00	HOLSTROM ROGER/HOLSTROM ROBERT 6366 WILSON RD FRUITPORT, MI 49415	30.0400	30.0400	1.042459	\$105.08
15-033-400-0007-10	HUGGETT KAREN J 6200 WILSON RD FRUITPORT, MI 49415	15.4400	15.4400	1.019002	\$102.72
15-033-400-0008-00	MCCLELLAN BRIAN L 6304 WILSON RD FRUITPORT, MI 49415	1.2100	1.2100	0.994671	\$100.26
15-034-100-0002-00	POUCH EDWARD G/SUSAN A TRUST S HILTON PARK RD FRUITPORT, MI 49415	35.2600	35.2600	1.030955	\$103.92
15-034-100-0003-00	VENEMA MARJORIE K TRUST 6715 E PONTALUNA RD FRUITPORT, MI 49415	39.0000	39.0000	1.054219	\$106.27
15-034-100-0004-00	POUCH EDWARD G/SUSAN A TRUST S HILTON PARK RD FRUITPORT, MI 49415	40.9200	40.9200	1.042153	\$105.05
15-034-100-0005-00	POUCH EDWARD G/SUSAN A TRUST JUDSON RD NUNICA, MI 49448	40.0000	40.0000	1.054173	\$106.26
15-034-200-0001-00	STRESSMAN CLAYTON K/TONYA A 6805 E PONTALUNA RD FRUITPORT, MI 49415	9.9200	9.9200	1.009601	\$101.77
15-034-200-0002-00	KOSSEN DAVID/DARLENE 6875 E PONTALUNA RD FRUITPORT, MI 49415	4.7700	4.7700	1.001200	\$100.92
15-034-200-0003-00	ZIENIEWICZ MATTHEW E/SONYA R 6891 E PONTALUNA RD FRUITPORT, MI 49415	15.4100	15.4100	1.017367	\$102.55
15-034-200-0004-00	CAMPBELL DAVID S/JEAN M TRUST 6911 E PONTALUNA RD FRUITPORT, MI 49415	4.7700	4.7700	1.001118	\$100.91
15-034-200-0005-00	DECAMP LINDA M 6969 E PONTALUNA RD FRUITPORT, MI 49415	4.7500	4.7500	1.001167	\$100.92
15-034-200-0006-00	HILL THOMAS L/VICKI 7033 E PONTALUNA RD FRUITPORT, MI 49415	9.8700	9.8700	1.007191	\$101.52

Muskegon County
Assessment Roll by Year

2024					
Project: BOW-24 BOWEN IC DRAIN					
Township: 15 15 FRUITPORT TOWNSHIP					
Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$
15-034-200-0007-00	HEEMSTRA KYLE/MYCAH 7089 E PONTALUNA RD FRUITPORT, MI 49415	11.8200	11.8200	0.995926	\$100.39
15-034-200-0010-00	POUCH EDWARD G/SUSAN A TRUST 6960 JUDSON RD NUNICA, MI 49448	39.7500	39.7500	1.048773	\$105.72
15-034-200-0011-00	RETTINHOUSE CHRISTI A TRUST 6925 MAPLE ISLAND RD NUNICA, MI 49448	38.0300	38.0300	1.014588	\$102.27
15-034-300-0001-00	POUCH EDWARD G/SUSAN A TRUST S HILTON PARK RD FRUITPORT, MI 49415	27.3100	27.3100	1.034412	\$104.27
15-034-300-0002-00	ALLEN LESLYE 7030 S HILTON PARK RD FRUITPORT, MI 49415	9.7200	9.7200	1.009123	\$101.72
15-034-300-0003-00	POUCH EDWARD G/SUSAN A TRUST JUDSON RD NUNICA, MI 49448	40.0000	40.0000	1.053375	\$106.18
15-034-300-0004-00	BLACKMER FRANKLIN/CHERYL TRUSTEES 7120 S HILTON PARK RD FRUITPORT, MI 49415	9.4700	9.4700	1.008770	\$101.68
15-034-300-0005-00	PALMA TIMOTHY/DANA 6444 WILSON RD NUNICA, MI 49448	7.0500	7.0500	1.006518	\$101.46
15-034-300-0006-00	SCHAVE BRENDA M 6516 WILSON RD NUNICA, MI 49448	10.1400	10.1400	1.010159	\$101.82
15-034-300-0007-00	BOND REBECCA 6620 WILSON RD NUNICA, MI 49448	46.1700	46.1700	1.053294	\$106.17
Township: 15	15 FRUITPORT TOWNSHIP	1,306.1000	1,306.1000	70.000000	\$8,064.00

Muskegon County Assessment Roll by Year

2024

Project: BOW-24 BOWEN IC DRAIN

Township: XXXXX MUSKEGON COUNTY

Parcel Number	Owner Name	Assessed Acres	Desc Acres	Percent	Assessment\$
61	MUSKEGON COUNTY	0.0000	0.0000	0.000000	\$2,016.00
Township: XXXXX MUSKEGON COUNTY		0.0000	0.0000	0.000000	\$2,016.00

Muskegon County
Assessment Roll by Year

2024				
Project:	BOW-24	BOWEN IC DRAIN		
Project Totals:			1,306.1000	1,306.1000 70.000000 \$10,080.00